1

-

N

w

E-N

FEXEE
F—LHRE
TEEH &

AEBEH
=15
S

HEXS
EEIP

HAashtE

&I

SF74E6H7H

SRR RBRAFRER
= K AFX LR

F79H ERRAKR—YKEKE (SIGA2025FE R 7R)
BIMRFES RERER HERES)

COIEIZDNT, TREDBYFERRBESE TWEEET,

B

TH7E6RA7B(X) FiKB 6A8H(RH)

EXATRKEEYS 5XHHKS

18,000 M (HH.XEXREAMOHTIZELY,)

SMEXFH

(BEVWESH—E/RF)

EWMEARAR

=

ZOTI7IVRER

E&H357

BEA—/—Y

E-ZUIES

(R#B)

8H22H(£)~8H24H(R)
HEREITI/\WEHm: 10848 (£)~10878 (X)

2
F—HE
9:00 2
(ch) 1
{i@%iﬁi/\ . ERERRE
H‘-_ET-‘ (=S 30 %
] T vaK" gm%
(EER) 1
o 9
11:00

(FEED) 6



X 2 % FTIERERRR—YKE BNEFER
Reni BE BRI A= BE 6 A 7 H
F - L % 1 2 3 4 5 6 7 8 9 10 =il
7a7 U 7ILEER O|1|0|0|]O0|O0]|]O0]|O0]1 2
kxs 77 0 0 0 0 0 0 1 0 0 1
L£WF—L:  TATYTILER BRF—L: KT T # ¥ B
®F  ZH BF BB HE |BE
¥ FH) wF LT —2 |/hA&
REFT : REFT —2 [%H
=897 =897 =2 &
—82iT =2H ZEIT B x| B - A0S - A
HABLEE 8 B 52 %& AT 10 B 46 %
(G
F - L % 1 2 3 4 5 6 7 8 9 10 =il
BN 0 0 4 1 0 1 0 0 0 6
SEA —/8—=Y 0 0 0 0 0 0 0 0 1 1
EWF—L: BNE BHF—L o BEF—/—V = ¥ B8
BF TBE ®F BA - BE - BN kg |EH
WF RS T HREe —£ | gk
REFT REFT == 3 =017 5
=BT ZET: =2 [k
- 2 g =cE M- 22N 2 | AN - k1B - EA
HERRAER 11 B 12 4 |[R&eRT7THS 13 B 26 2
(M E2]
RESEL
F — L % 1 2 3 4 5 6 7 8 9 10 =1l
a7 7ILEIR 0oyl 0| 20|00 O0 2
== 1 3 2 0 1 2 | X 9
EWF—L:  7TETYTILEER BWF—L: B = ¥ B8
®F LT F ME - LA ke |=aH
WFE KA HWFE RS —2 |
ANERFT ¢ REFT 2 |KE
=8 =k =847 —£ |{EH
—BfT T TR BA - BRI BE Pz |- 8wE - Ba
HABLEE 13 B 58 % HAK T 15 B 58 %
(s ] 7@E3—LF




